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1)  Give two possible answers to this sum. 
 
 
 
 
 
 
 
 

                           +          +          = 800 
 
 
 
 
 
 
 
 
 

                           +          +          = 800 
 

 

2)  Write in the missing numbers. 
 
 

                          ×  15  = 150 
 
 
 
 
 
 
 
 

                          ×   4  = 48 
 

                  23    ×   6  =  
 
 
 

 

                  40    ÷           = 8 
 
3)  What are missing digits? Write one in each box. 
 

                                       ÷  10 = 34 
 
 

420  ÷           =  42 
 
4)  Say what the missing numbers might be. 
 

            ×         =  90 
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1. Any three numbers that total 800 (twice)       

 

2. 10,    12,    138,    5      

   

3. 340,    10        

 

4. 1 × 90  or  2 × 45  or  3 × 30  or   5 × 18  or  6 × 15  or  9 × 10 
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